ANSwWeR KEY
EXTRA PRACTICE: pH/pOH/[H]/[OH|/K,, Name:

‘The pH of a solution indicates how acidic or basic that solution is.
’ pHrange: 0—7=acidic
7 = neutral
7 — 14 = basic

Since [H'][OH] = 1.0 x 107 at 25°C, if [H'] is known, the [OH] can be calculated and vice versa.

pH=-log [H'] [H]=10P"
pOH = - log [OH] K, =[H'][OH]=1.0x 10"
[OH] = 107°H pH + pOH = 14

Complete the following chart & show all work.

[H] pH [OH] pOH Ky Acid or
Base

1 1.0x10° M 5 .o E~9M q l.oE-1yM A

) [.OE-TM " | lLoE-TM -] Neotra|
3 l.oE-loM 1O 1.0x10* M L B
4 1.0x102 M | lLoEe-lam| |2 A
5 LinE “BM 3 LOE-NIM 11 A
6 l.o€-12M 12 Lo E-AM 8 3
7 | BiE =9 9 1.0x10° M 5 B
8 1.0x10™M' M 1) l.oE-3M 3 B
9 l.oe-l M | .o E-13M) 13 A
N 10 l.o E-6 M 6 lLoE-8M 8 ‘L | A




